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Part-1 : General Studies TTT-1 - QTHT TeTIq

(A) General Knowledge (37) AT AT
L Find the missing term (?) in the L. & sjgen # W vg (2) I FR
given series. BIG-792, HCA-138, FED-456, E?
BIG-792, HCA-138, FED-456, E? H-8772
H-87?
A. G,6 B. 1,9
A. G,6 B. 1,9
C. G5 D. 1,5
C. G5 D. I,5
2. Find out which of the figure can be 2. aﬁ%ﬁnwﬁﬁﬁnwo@ﬁé KEAEE)
formed from the pieces given in TR SHTS ST Fehd ! 27
figure below. )
& \ DC"" ﬂ

A.@ @

B, @ 8. @
c.® C'@
D.® D-@
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3 The shape of a water drop is
spherical due to ------ :

A. Viscosity

B. Gravitation

C. Surface Tension
D

. Elasticity

Select the number that can replace
the question mark (?) in the
following series.

97,91, 79,61, 37,7

A 9
B. 7
C. 1

D. 5

The value of
(4488+11.01—-7.98) +15.99 is-

A. 25
B. 2.6
C. 26

D. 25

C. BaE

D. JcIam&dr

3G GEAT T =99 i St FferRaa
s@eT § 94 foeg (2) 1 wiaenfud st
E

97,91, 79,61, 37,7

A 9
B. 7
C. 1

D. 5

(4488+11.01—7.98) +15.99 &1 7
-

A. 25

B. 2.6

C. 26

D. 25

SPACE FOR ROUGH WORK / % &Td & fo1@ sre

20392-JBY-BHR-BJG-M

56 Set A




6. The principle used in working of an

atom bomb is-----.

A. Nuclear Fusion

B. Nuclear Fission
C. Chemical Reaction
D

. Both Nuclear Fission and Fusion

A shopkeeper makes a loss of 5% by
selling cloth at the rate of Rs. 5.70
per metre. At what rate per metre
should he sell the cloth so that he
gains 5%?

A. Rs.8.90
B. Rs.5.50
C. Rs.5.30
D. Rs. 6.30

Chhattisgarh’s international player
Aakarshi Kashyap is associated with
which sport?

A. Volleyball
B. Weight lifting
C. Hockey
D

. Badminton

TRHTO] S o T L H Th THeaia
------ H

A. T G

B. ] fogieT

C. TEmfe Sl

D. qtaTy] foRge SR Eera gt

Teh THHER T 5.70 &, it Hiet o A1 &
FHULT = T 5% T &I Bt 21 8 Tf

HieX for 919 O 39 79 ki o< foh 30
5% ShT ATV BI?

A. 8.90%.
B. 5.50%.
C. 530%.

D. 6.30%.

BTG hT SRS RaATSt AT
HTY [T et T Tr=iferd 82

A. dicflsiter
B. de fafen
C. g

D. sefiet
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10.

11.

What is the official slogan of the
2024 Paris Olympics?

A. Inclusive and Impressive

B. Games Wide Open

C. Global Partnership

D. Brotherhood and Beautifulness

What will be the units digit of the
product of (2153)1%72

Al

The award is not sponsored by the
Government of Chhattisgarh-

A. Shaheed Rajeev Pandey Award
B. Shaheed Kaushal Yadav Award
C. Vishwamitra Award

D. Khel Vibhuti Samman

10.

11.

2024 U ST w1 SRR T 2-
A. FHTERI TR TvTEETet

B. T AT5E 30

C. afte et

D. WIS 3R graTar

167

UM% (2153)°" T §TS T 37k HAT

g

Al

BTG ThR ERT TSI LT TR

5
A. TTEIE TS Tied [TEhR
B. IS SIS Aree TR
C. foraTim TEhR

D. @ favfa amm
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12.

13.

14.

If there were no atmosphere, the
length of the day on the earth will-

A. Remain the same
B. Increase
C. Decrease

D. Increase in winter and decrease
in summer

Select the letter cluster that can
replace the question mark (?) in the
following series.

DCBA, WXYZ, HGFE, STUV,
LKJI, ---

A. OPQR
B. MNOP
C. NOPQ
D

. ONML

Bacteria and Fungi act as ------
within an ecosystem.

A. Consumers
B. Secondary Consumers
C. Producers
D

. Decomposers

12.

13.

14.

afe argrieet = & godt W o Y eierd-
A. srafafda @t
B. =g Smwit

C. =St
D. &<l § gftg 3R 7 § w2 Smert

3 &R FHE I =9I HL SN (ARG
s@eT # 94 foeg (2) 1 wfaenfud st
HehdT B

DCBA, WXYZ, HGFE, STUV,
LKJI, ---

A. OPQR
B. MNOP
C. NOPQ
D. ONML

SFATRT I heeh Teh Ticfefaehl d &
1 [y % &Y § h d 2

A. STRRTSA

oo

B. fadiaer susim

C. 3IdIeh

D. 39eh
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15. If the sum of 40% of a number and
30% of the same number is 70, then
the number is-

A. 125
B. 100
C. 150
D. 200

15, gfy et T F 40% 3 3 G F

30% ohT AT 70 B, T I8 T&AT 19 € &2

A.
B.
C.
D.

125
100
150
200
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Part-1 : General Studies TTT-1 - QTHT TeTIq

(B) General Knowledge () BTETE ShT AT A
of Chhattisgarh
18- \Which of the following tribes of 16. st foret o1 Freferfiaa # & i @t
Sarguja district is famous for its ST 379 9T hetT FI9IY %9 & &9
Metal Art specially Deepak
(Fermrfh) o Fermior 3 fore ftres 22
(Chimney) making?
A. Oraon A. T
B. Malaar B. AW
C. Pando C. Uugr
D. Korva D.
17 Hasdeo - Bango Irrigation Project 17, sorg-si =g wiesmr & fe
provides Irrigation to the districts- fies Bt 8-
A. Bilaspur, Korba, Janjgir-Champa -

Al ving{,ehlwl,ciinﬂ{-diql

B. Janjgir-Champa, Baloda Bazar,
Korba

B. SSTIR-SIT, Sieiier ST, ShiXa

C. Raigarh, Korba, Gaurela-Pendra- C. TITE, T, THAT-YUGT-HHATE

Marwabhi

D. SRS, SSFR-ST, TG
D. Korba, Janjgir-Champa, Raigarh
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18. The Present Industrial Policy of the 18, so vrow ot aduw o AT Fa &
State has been implemented from- AT ES 27

A. 1 November 2018 A 19952018

.1 November 2020
B. 14992020

B
C. 1 November 2019
D C. 149d%T2019

. 1 November 2022

D. 1d99%IT2022
19 |n the District Panchayat of this 19, <o o 3 e damra § Frefafad
State, the work of the following Tt ATy 1 1t ST Ud TET Ted
permanent committee is done for ENEY ”
flood and drought relief.
A. Education Committee A. fre afid
B. Agriculture Committee B. Y @mufd
C. General Administration C. 9= g3me afufa

Committee

D. T Ud AigdT shedTol FiHId
D. Health and Women Welfare

Committee
20- In which tree is ‘Churapat” tied in 20 zq rva o it wepid i wETe R
the folk culture of this State? &7 T ST ST 27
A. Guava tree A, S T
B. Mango tree
B. M AT US
C. Plum tree
C. HUS
D. Aegle Marmelos tree (Bael tree)
D. S AU
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21.

22.

The idol of Baikunth Narayan at
Sirpur has been found from which of
the following place?

A. Gandheshwar Temple
B. Lakshaman Temple
C. Prabhu Kutir

D. Shri Ram Temple

The traditional songs of ‘Teeja
Jagaar’ of Bastar are primarily sung
in which of the following local
languages?

A. Gondi
B. Halbi
C. Bhatri

D. Dorli

21.

22.

23.

e H sfsha T st wicar feferfaa
o fope T @ WTH g8 €2

A. O HET
B. @&H0T AR
C. wy g

D. st Hfex

STER o TSI ST 2 IR Tid e
w7 @ ffefad 5 @ forer @te wror

IS | )
A. Tl

B. gl
C. 9all
D. areft
2R % TS Tgd o WD BArEE
T o o fedt & Suereh o 2-

A. 3R HHEAT

B. 3TTI9Ih STd il
C. IEYIF T R

D. Tl o H ST
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24,

25.

26.

Meaning of the following Puzzle of

the State language.
Tad & & ar 3,

=t Sfrea 21 & a1 3TTEa|

A. Bullock Cart
B. Husband
C. Rain
D. Guest

When did the students hoist the
‘Tiranga’ flag in the building of the
Government High School of Bilaspur
during the Civil Disobedience
Movement?

A. 4 August 1930
B. 24 August 1930
C. 10 July 1930

D. 22 August 1930

‘Baliparb’ a festival celebrated by
the Halba, Bhatra tribes of Bastar, is
associated with which God (Deo)?

A. Buda deo
B. Pangun deo
C. Angadeo
D

. Bhimadeo

24,

25.

26.

9 TS ! 99T o FEfaiad S
1 379 Tqa|

Tad & & ar Y 3,

=t 3Trera &1 & a1 STEa

A. STl
B. ufd
C. auf
D. 3tfafer

Gl ST SR o TH AT 6
RTEh A BTSERS o Ho H ST - el
SR FRIE IV

A. 4 3TTE 1930

B. 24 3T 1930

C. 10 g 1930

D. 22 A7T& 1930

SE ! B, Tl SIS o I
T ST ST 3c8d ol e forg a1

o Heiferd 82

A. Jered

B. Ui d
C. 3TTed
D. fmraa
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27.

28.

29.

According to the Anthropologists,
the Birhore tribe of Chhattisgarh
comes under which of the following
ethnic groups?

A. Negroloid
B. Cacesoid

C. Mongoloid
D

. Proto Australoid

When was the meeting organised in
Raipur in the memory of ‘Kaidi
Divas’ during Civil Disobedience
Movement?

A. On 6 August 1932
B. On 5 August 1932
C. On 4 August 1932
D

. On 8 August 1932

The rulers of Gang dynasty of Bastar
came from which place?

A. Mysore
B. Prayag
C. Jagannathpuri

D. Andhra Pradesh

28.

29.

- FeitETe sht for@R sttt weer et

o AR ffeiaa # & fore i @
&7

A. fress

B. HHUTES

C. Hise

D. TRIRIIAES

A STa SR o a9 <okl g

sht Tl H TR H HHT T STAISH Hel
EDIRIDIDIV

A. 6 3TTEd 1932 Sl
B. 53T 1932 %l
C. 4 3TTd 1932 Rl

D. 8 3TT&d 1932 &l

TEAX o TSI ITEeh fohd T & 31TT
7

A. A
B. ST
C. STt
D. g Yax
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30.

31.

32.

In which tribe of the State there is a
Sub Caste called ‘Chaukhutiya’?

A. Bhunjiya
B. Bhaina
C. Binjhwar
D

. Sainta

Who was elected the Mantri of
Rashtriya Panchayat Constituted in
Raipur city in 1921 at the time of
Non Corporation Movement?

A. Bajirao Kridutt
B. Ravishankar Shukla
C. Jaskaran Daga

D. Narayanrao Meghawale

To whom Anandi Bali, the wife of
Bimbaji had made the ‘Sena
Dhurandhar’ of Ratanpur?

A. Chimna Bapu
B. Vyankoji
C. Raghuji Il
D

. Mudhoji

31.

32.

© H ST o fop ST § =gfear

T Teh SUSII Brell 82
A. Hfsan

B. S

C. foizam

D. &t

IHEANT SATaITH o T TA TR H
1921 H faq Tftga dermerd o w5l i 4
ay?

A. SSIRIE shed
B. faeieR gt

C. SHRT S

D. dR™HUE YA

forvarrstt st deeft TG SITS 5 T T
AT LT Tordl ST 9T

A. femTaETg
B. ISt
C. Tt facdt
D. st
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33. National Thermal Power Corporation 33. BTETTE U | U A forega fmm

Power generation plant is not at this fafiree =1 forerd ScaTe SusHy 39 et &
place in the State of Chhattisgarh. Y ”
A. Raigarh
A T
B. Korba
B. &l
C. Surajpur
D. Bilaspur C. ¥
D. ﬁFlTFrCI'{O
34. The meaning of ‘Jyethika Gram’ in 34. g AT H “SATHRT I o7 37
ancient Chhattisgarh was- 2T 9T
A. Chief of the village A Irrﬁrah‘rgf@m

B. Chief village of the village group
B. U™ €HE 1 &I UH

C. Village group

C. Ui T &8
D. Elder person (Jyetha Vyakti) of
the village D. I T AT HAh
3. . 35, i e & e o e o % fg

A SUTE! | I a1 ©-

B, ------ A. o T o Tt st
oR— B. o a1 o ar swEa |
D. - C. o s o ur sRed ©

D. @ s o U stEd Wifad
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7. o :
3 The following river is not a river of

flow system of Mahanadi-
A. Morani

B. Mand

C. Ib

D. Kelo

38. Who is worshipped as Goddess of

war in Bastar?

A. Danteshwari
B. Mavli Mata
C. Kachchin Devi

D. Kudum Tula

36.

37.

38.

gieft T qfeahT T 22
A. BT

B. guf

C. vl

D. @Is Tl

frefefad 7t wemet i e JurTet
T Tt B-

A. T
B. HIE
C. &
D. sl

SEQLH e T ol o & H fohwshl SUTEAT
Y STt &2

A. Zagd
B. Hrac! #rar
C. el

D. FEH T
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39. Who is the writer of “Godana Ke
Phool?

A

Dwarika Prasad Tiwari Vipra

B. Keyur Bhushan
C.
D

Urmila Shukla

. None of the above

40. <Kadkhadandi’ is the Gatha
Mahakavya of which tribe of
Chhattisgarh.

A

B
C.
D. Gond

Korva

. Pando

Oraon

39.

40.

“TTTEHT o et foherehl TarT 82
A. TR ST e forsy
B. LT

C. 3fte o

D. STRH & & I3 T

‘FHSESUE] BUIG hl fohd ST T
T HEThTY =-

A. &
B. Wuer
C. R
D. e
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Part-11 : Technical Skills WTT-2 - Ak TehT I

(A) General Departmental (37) T foramT gt I
Basic Knowledge
4L Desirable limit of total hardness 41. TS 1 AT el HBRaT (CaCO3)
(as CaCOg) of drinking water is- &Y« 2-
A. 3 mg/l (max) A. 3 TS/ (3tferemam)
B. 300 mg/l (max) B. 300 THSH/a (3Tfieram)

C. 30 mg/l (max) C. 30 ursiiyeft (Aferhan)

D. 3000 mg/l (max) D. 3000 THSh/aft (3Tfreham)

42, \What among the different methods 42, frr & i fafir Rl & & = < Rty
given below is NOT the method of TYE/ATLY ! Hied i fafer 72 89
tube/pipe bending? i
A. Compression bending A 1Y
B. Rotary draw bending B. Ty T
C. Roll bending C. UA gl
D. Power bending D. STf<h AT kT

43 \Which of the following consist of 43. fyeferfaa & & fore sreT =5 o =T
stages of a water cycle? TITferet 82
A. Evaporation A AT
B. Distillation

B. A@aq
C. Purification

C. SI'&ZEI'T{UTO
D. Combustion

D. &1

SPACE FOR ROUGH WORK / % &Td & fo1@ sre
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44,

45.

46.

Desirable limit of pH value of
drinking water should be between-

A. Between 1-3
B. Between 2-5
C. Between 4.5-6.5

D. Between 6.5t08.5

Jal Jeevan Mission aims to provide
safe drinking water to individual
household through-----

A. Tubewell

B. Handpump

C. Canal

D. Tap connection

Total dissolved solids in packaged
drinking water should be-

A. 100 mg/litre (max)
B. 500 mg/litre (max)
C. 50 mg/litre (max)

D. 200 mg/litre (max)

44,

45.

46.

o o 9Tt <Al S Ot o A/ R
il 8-

A. 13
B. 2-5% &=
C. 4.5-6.5h s

D. 6.5t0 8.5 k=

STeT Sier THETT AT SE9 Tedeh &I oA ——--
o HTEH § GRIATT YISl STeTed AT 2

A. TART
B. 88U
C. T=H

D. 94

Uohsg UISTel H el ForRitet 31 qaref
Jfereraw gi-

A. 100 Toefmm/efet (1femnam)

B. 500 forefum/efiex (Tferepan)
C. 50 fucfumy/efer (Afereram)
D. 200 forefrum/efiex (1feremam)
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ar. What is the most common household

48.

49.

method of disinfection of water?
A. Chlorination

B. Distillation

C. Sedimentation

D. Flocculation

Which of the following operation
CANNOT be performed on drilling
machine?

A. Reaming

B. Tapping

C. Lapping

D. None of the above

The most common type of offshore
drilling rigs is-

A. Jack up rig

B. Barge rig

C. Semisubmersible rig

D. Submersible rig

47.

48.

49.

oY ST ShITURTEA S ohl Herdl 3T BLT]
EIRERIEY

A. FATRTT
B. JAM™EaA

C. 3fadred

D. TR

frefafaa & @ = | AT fefef
T IX T2} foraT ST TehdT 22

A. dftr
B. @&
C. o
D. 3 & w1 off e

STqaet FefefT faT o1 dee 79 YK &-
A. S 319 T

B. s faT

C. srtiugss far

D. gemfdaa far

SPACE FOR ROUGH WORK / % &Td & fo1@ sre

20392-JBY-BHR-BJG-M

56 Set A




50 The type of valve which is provided 50.  corerarer #f were UTEW TS e @
on the suction pipe in tube well is- 2T & 98 g Yo T BT 22

A. Reflux valve

A. ¥ dicd
B. Foreline & holding valve .
J B. BIATET 3R gifeeT aTed
C. Gate valve
C. e ded
D. Poppet valve
D. 99 died
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o1.

52.

53.

Part-11 : Technical Skills

(B) Industrial Training
Skill Knowledge

An 8 kg dog chases a cat. If the dog
has 400J of kinetic energy what is
the speed of the dog?

A. 10 m/s
B. 5m/s
C. 1mfs
D. 100 m/s

Increase in Carbon Content in steels,
increases its-

A. Ductility
B. Malleability
C. Hardness
D

. Elasticity

What is the use of fine pitch hacksaw
blades?

A. To cut soft metal
B. To cut high speed steel
C. To cut carbon steel

D. To cut thin tubes

51.

52.

53.

WTTT-2 - Ak AT h 1Tl
() AT TISTeTur hIvTer [

U 8 fohrct! ot Fell Wk foreett ot it
ST 21 TS Foel T TSt Foott 4007 B T
Sl ol =T TohaHT BT

A. 10 m/s
B. 5m/s
C. 1m/s
D. 100 m/s

D. JcIm&ydr

Tg T ool seie ST Rl ST 22
A. T ST T e & forg

B. TTE Tite Tiet &I s1ed & foru
C. e Wi i e o fag

D. et 8t Y e o fog
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54 How the size of drill bit is measured? 54, et fore o1 TmesT 8 wTAT ST 22

A. Between the flutes A TG F AT
B. Between the lands B, dexdiud
C. Between the web
C. JF=TH
D. Neck diameter
D. e T ™
55, 4 feet equals to how many inches? 5. 4 g frm A
A. 12 Inch A 12%F
B. 36 Inch B. 363
C. 48 Inch '
C. 4834
D. 50 Inch
D. 5059
56. Which of the following gas-flame 6. T & & @ ot e sarer g Terd 22

combination is wrong?
A. SIS + THITCEA = ST TSH-
A. Oxygen + Acetylene = oxygen- g
THifeef T sare
acetylene gas flame

B. Oxygen + hydrogen = oxy- B. TS + BTSSISH = SATerdl-

hydrogen gas flame gISSIS 9 SaTe
C. Oxygen + coal gas = coal gas C. TS + et 19 = i 79
flame ST

D. Oxygen + LPG = Oxy-Nitro gas
flame

D. SRS + Terdisit = ATet-Arger
T Sarer
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In surface finishing Irregularities 57 efg gsHToT ok 2N HEi 2o g 2
caused by Inaccuracies in the et sTeifea R et T Bt 29

Machine tool itself are-

: A. JIH et
A. First order
B. Second order B. fadra=r
C. Third order C. JiT &I
D. Fourth order D. =g #t
%8 \What kind of bearing is foot step 58. % T ST fohe g sht ST Bielt 82
bearing?
A. w3fe wr i
A. Static Load Bearing
: : B. WS YR ST
B. Torsional Load Bearing
C. Tangential Load Bearing C. T¥ief ¥Te St
D. Thrust Load Bearing D. YUNg SR ST
59. . . 59 .
Angle of punching end in centre + g U ot TSk T 10T BIT 2-
punch is-
A. 90°
A. 90°
B. 30°
B. 30°
C. 60°
C. 60°
D. 45°
D. 45°
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60.

61.

62.

Which of the following Metals does 60.

not react with air at normal
temperature?

A. Gold, Silver, Sodium

B. Silver, Platinum, Sodium

C. Gold, Platinum

D. Potassium, Iron

Which file is used for filing wood
and leather?

A. Hand file

B. Bastard file

C. Rasp cut file

D. Single cut file

What is the use of Feeler gauge?
A. To check the width
B. To check the height
C. To check the length

D. To check the gap between
matting parts

61.

62.

1 3 9 I T T | aTd W A
o |ry STffsha el el

A. |, =16, difeam
B. =idl, wifem, difeam
C. @M, wifew

D. drefirm, afer

kel 3T THS I FrsfeilT 7 & forg
forer gt oAt SUAT foRarm STTaT 22

A. S FHEA
B. ¥ ®I3dd
C. TSI e FIEd

D. f&e e Wiz

AL ST ST IYINT T =7

A. NSTS Y ST HAT

B. TS ohl ST ohtAT

C. TS Y ST hET

D. e st 9 o <= o fies T i
ST T
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63.

64.

65.

Dowel pins are used for-

A. Measurement of depth of hole

B. Measurement of diameter of hole
C. Measurement of height of shaft

D. None of the above

What is the Maximum swivelling
angle of The Compound rest in Lathe
Machine?

A. 90°
B. 180°
C. 220°

D. 360°

If the hole designated as 30+0.5
Then Maximum material limit will
be-

A. 30.05
B. 30
C. 29.95

D. None of the above

63.

64.

65.

ST T T ST BHT 2-
A. B TEUS AT H
B. T @ A0 §
C. e i 318 AT
D. 3Wh H & IE T

IS A § HHI1SE W T Afeehad
E[HTE SHI0T T &2

A. 90°

B. 180°

C. 220°

D. 360°

afE BT () BT 30+0.5 T Hwr o
SRTTET 1T & AT SRR T AT T
UiV

A. 30.05

C. 29.95
D. g9 & IS Tl
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66.

Key in Machine shaft makes which 66. st mrefier wmee 3 for srhm a7 it
]0|nt7 a:n?n%")
A. Permanent joint A e

B. Temporary joint

B. STRfl S

C. Both A & B are correct ‘
C. [T A & B 3HT Ol

D. None of the above

D. 38 ¥ 1S T

67.
The surface area of this square based 67. g gt frrfire w1 g Sewat -

pyramid is-

4m

2m
2m
A. 18m2
A. 18m2
B. 8m?
C. 14m?
C. 14m?
D. 20m?
D. 20m?
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68. What is the accuracy of outside

69.

70.

Micrometer?
A. 0.01 mm
B. 0.004 mm
C. 0.02 mm

D. 0.002 mm

Which type of foundation bolts are
used for fixing heavy Machine?

A. Eye foundation bolt
B. Cotter foundation bolt
C. Rag foundation bolt

D. Lewis foundation bolt

How many Fundamental Tolerance
Grades are available?

A. 18
B. 25
C. 15

D. 12

68.

69.

70.

SITRT ATESRIEIET Y TfgTeadT T 72

A. 0.01 mm
B. 0.004 mm
C. 0.02 mm

D. 0.002 mm

AT AT B A o T fore geh ok

BIUSIH dled ohl ST ERISIK] %?

A. g g aee
B. it dia dlee
C. wdia e

D. Tz8 adiee

R STV FeRITeraT U€ 3ueTsd 8id
g2

A. 18
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1. \What is this object doing? [ s I DR

S o
time = time
A. Speeding Up A. s 8 =Ied oG W R
B. Slowing Down
B. I i e & ®
C. Stationary
C. fer®

D. Moving at constant speed

D. THEHH Tid & Tiaq= ®

72. What does ‘C’ denotes in ABC of 2. “qrerfien ferfercam o it & < ==
“First Aid”? zwitar 20
A. Circulation ‘
A. TR (TR
B. Cooling
B. FHiciT (3Sahd)
C. Check
C. =% ()
D. Circle
D. Hehd (I1)
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73.
What is the volume of Object X?

A B
100cm? - -
90em? & final fluid
80cm?® level
70 cm?
60cm3
50cm?
40 cm3
30cm3
3 .
2o object X

original
fluid level

A. 10.0cm®

B. 15.0cm?

C. 20.0cm?®

D. 250cm®

73 aeq X a1 ST e 82

A
KN
T3S dad

A

10.0cm?®

15.0cm?®

20.0cm?®

25.0cm?
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74.

75.

What is the Name of Metal Alloy of
Lead, Tin, Copper, Antimony?

A. Bronze
B. Gliding Metal
C. Babbitt Metal

D. Leaded bronze

Which type of extinguisher is used to
stop flammable and running liquid
fire?

A. Foam extinguisher
B. Dry powder extinguisher

C. CO, extinguisher

D. Halon extinguisher

74.

75.

e, T, diem ST dtmet o e arg 1
T T 82

A. daa
B. T3feT U1g
C. dfsz g

D. drareh didet

SIS 3T Tl diel § &7 JTedl

AT ! Uk o foTe for ThR 6
AT I T IT=NT foraT SITaT 27

A. T IR

B. ST 90 A

D

C. °h|®i\"| SIBSIENIES) ﬁﬁd?ll‘-l%

D. g AfemHS
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76. The diameter of the screw at the crest 76.  fy7ET uX S 3 ST T HET ST -

is called-
A. THE FH
A. Major diameter
. . B. a9 3™
B. Minor diameter )
C. Effective diameter C. gvrEl =«
D. Root diameter D. a1 =

7. \What will cause if the nozzle touches 7. afe |, Afe AISeT Hiwed I 1 BT 8,

the Molten Pool in Welding? ar T
A. Spark A :
B. Smoke .

B. ga
C. Back fire

C. SHH
D. Flash Back

D. R F

8. Gravitational force on an object is- 78. TerelY Seq] X EcaITeh YUl oI, -----

A. Immeasurable : e
B. Mass A. 3:|—Fﬁ-&|ﬁ'
C. Weight B. souHH
D. Negligible C. a5

D. T
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79 \Which of the following metal is the 79, Fyeferfia 3 & i €t e i

purest form of iron? TeEdH &Y 29
A. White cast iron A T T
B. Grey cast iron '
B. U aadi olral
C. Wrought iron
C. foeatamr
D. Castiron
D. &l drel
80 Which Maintenance record mention 80. & vawEE et | #RA o =1 8
date of commissioning of Machine? $1 TG T Io@ BT 22
A. Inspection Check List A ﬁﬁwaﬁr@
B. Servicing Manual i
B. @ gRaeh
C. Equipment Record
C. I e
D. Product Manual
D. 3cre shi Frmmeet

8L Which gauge is used to compare the 81. TSI T THTS 6l T A o ford fopm

profile of Threads? TIST T ITRANT fohaT STt 292
A. Plug Gauge A T
B. Feeler Gauge
B. fher
C. Radius Gauge
C. (e
D. None of the above
D. 34 ¥ 15 A

SPACE FOR ROUGH WORK / % &Td & fo1@ sre

20392-JBY-BHR-BJG-M 33 56 Set A




82.

83.

84.

Which of the following instrument
cannot be used for measuring Radius
or Diameter?

A. Radius Gauge

B. Wire Gauge

C. Feeler Gauge

D. Micrometer

What is the unit of cutting speed in
drilling operation?

A. m/rev

B. mm/rev

C. m/min

D. mm/min

The unit for specific gravity------
A. mL

B. dimensionless

C. g/L

D. g/mL

83.

84.

- e O 9 fora Suertor ot 9T s ar

TE HIO H Y &1 ThaT?
A. = ie

B. TR

C. $leRI=

D. HTghIHTT

ffeiTr STToer o ahred ot T ot 3ohTs
T2

A. Hi/=reRt
B. foi/=reet
C. #i/fafe
D. fy/fafe

EINERISE KL S—
A. mL

B. TmEN

C. g/L

D. g/mL
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85. \olume of the figure below is- 85. = faw wru fort w1 ST B-
| I
O ft i 9 ft i
I
_--__J\ _____ .
2 ft \ 2 ft \\
3ft 3 ft
A. 1412 A. 142
B. 54ft3 B. 543
C. 4413 C. 4413
D. 102* D. 1023
86. What is the outer diameter of washer 86. Sism e STE ST T T ST Sliee ohl
when a nominal diameter of bolt is e = 5 forft 22
5 mm?
A. 12 fift
A. 12 mm
C. 15mm C. 15 fumdft
D. 13 mm D. 13 fasft
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87- A measure of the path actually 87, fopelt oreq grar e # et o T wer B
travelled, by an object is called its---- TS 1 IHFT - FHET ST 2l
A. Distance A aﬁ
B. Velocity
B. o
C. Speed
C. I
D. Displacement
D. o
8. Gun Metal is an alloy of which of the 88. 7 Aew i B & Roreehy fHer-amq 22

following?

A. 88% Cu + 10% Sn + 2% Zn
A. 88% Cu + 10% Sn + 2% Zn

B. 88% Sn + 10% Cu + 2% Zn
B. 88% Sn + 10% Cu + 2% Zn

C. 88% Zn + 10% Sn + 2% Cu
C. 88% Zn + 10% Sn + 2% Cu

D. 88% Cu + 10% Zn + 2% Ni
D. 88% Cu + 10% Zn + 2% Ni

89 Total Productive Maintenance 89. %o TS TERETS H, Te@rd & SN
Involve during Maintenance- e 2 -
A. Only Maintenance Team A3 -

B. Only operator of Machine
B. ohael A T TTHT

C. Every employee and officer of

concern shop floor C. HETYd AT FAR 7 3TTeh) T
I

D. 378§ F13 T

D. None of the above
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90 A screwis designated as M, AxB 0. wHEpH M, AxB % &9 # guitar

Then B is- 299 B BIMI-

A. Minor diameter

A. dgIH
B. Major diameter
B. 98¢ I
C. Major Radius
C. Jg< s
D. None of the Above
D. 34 ¥ &5 A1

. Die stocks are used in- 91.

TS T21ok R SUANT okt ST 2-

A. Indrilling A. feasad

B. Cutting external threads

B. sTerdfeat se |

C. In measuring radius

C. Preaad
D. In measuring roundness .
D. e "o |
92 \Which Nut has a upper portion is 92. e e T I W WU SR foreen
hexagonal & lower portion is AT SATeRT BlaT 27
cylindrical?
A. WEHAZ
A. Swam Nut
B. Castle Nut B. FwITe
C. Wiles Nut C. WRRERTE
D. None of the above D. 9 9 &Is Tl

SPACE FOR ROUGH WORK / % &Td & fo1@ sre

20392-JBY-BHR-BJG-M 37 56 Set A




9. What is the use of Telescopic
Gauge?

A. To measure depth
B. To measure external dimensions
C. To measure angular dimensions

D. To measure size of holes and
slots

94 Which of the following is used in

Soldering Process?
A. Lead and Tin

B. Lead and Copper
C. Tinand Iron

D. Iron and Copper

. Crest diameter of screw thread is

same as-
A. Major diameter
B. Pitch diameter
C. Core diameter

D. Minor diameter

93.

94.

95.

S fereanifies 71T 3T RIT SR 22

A. TETE AT

B. STedt ST AT J

C. HIvfr STTATHY BT A7

D. ¥% 31T TATe o STTHR T AT H

et gfshar 7 e & O foreent ST

e T 22

A. e R feT
B. ofte T disn
C. o7 sinaer
D. drer SR disn

TF TSI 1 MY AT foheeh G BT 82
A. FeE ™
B. fr=r=ma
C. ®N =™

D. &9 5™
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97.

98.

Gravitational potential energy
depends on the ------ and ------ of the
object.

A. Mass and Velocity
B. Friction and Velocity
C. Height and Mass

D. Height and Friction

Generally how many bed ways are
there in Lathe Machine?

A. 3

Bastard file has ------ teeth per inch.
A. Below 20

B. 30

C. 40

D. 50-60

97.

98.

UM TS 730 | fohdd YR & ag
3 BId 87

A 3

B. 2

D. 50-60
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9. The mass of the rectangular object is 99. HTATATHI ] T FTH 350 TTH 2
350 grams. What is its density in 109/ cm® g —
10%g/cm?? .

3m
3m
2m
4m 2m
4m
A. 35
A. 35
B. 100
B. 100
C. 14.58
C. 14.58
D. 17.7
D. 17.7
100. 100.

V-blocks are not mainly used for- V-sciieh ACEESERIL EAEDISIGIE

A. For checking roundness of A. SR S Y TS sy St
cylindrical workpiece. fr

B. To hold cylindrical workpiece.

B. SRR JehYTH ol Jehed o feq)
C. To support rectangular parts.

C. SAIATHT Il hl TR - o fo1g)

D. To measure small angle.

D. BT VT ! 7T o o)
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1.

o s~ wn

ek T 1 37k AT & | T I i AT 2 |

T2t & 3T, & T OMR I (3TTERsiie) W eifera i |

A I TR T TT 1/4 3Tk TS AR |

Rt oft 78 3 HeTEmeTet AT AT A o WIATSe Wi T TaT afid & |
OMR ITINE (SATEIIIE) T TRNT Thid AU VHT hiS SATTUTHT T hi/ald rad I8 We A 9T

IEH Ag T freTae fe U W e weTea sy o T B W |
Note :

This question paper consists of following parts namely :-

Frfereraw 3ik : 100
Maximum Marks : 100

Part

Particular

Total
Question

Marks

Part-1

General Studies —

(A)

General Knowledge

— Marks 15

(B)

General Knowledge of Chhattisgarh

— Marks 25

40

40

Part-2

Technical Skills —

(A)

General Departmental Basic Knowledge — Marks 10

(B)

Industrial Training Skill Knowledge

— Marks 50

60

60

Each question carries 1 mark. All questions are compulsory.
Indicate your answers on the OMR Answer-Sheet provided.

1/4 mark will be deducted for each wrong Answer.
Use of any type of calculator or log table and mobile phone is prohibited.

While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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